Date:

Spring is in the Air

Solve the subtraction problems. Use the answers to solve the riddle by writing the letters with their

answers on the lines below.
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-89 - 99 - 235 -229

24 749 379 71 208 85 696 338 HIS 517 379 85

21 379 71 64l /M 25 24 48 28 208 338 HI5 517 379 85




Answerkey ..

Name:

° ) ° °
Spring is in the Air
Solve the subtraction problems. Use the answers to solve the riddle by writing the letters with their

answers on the lines below.

O326 Q 87 Q73

-89 - 99 - 25

0265 Q17 O s

- 194 -23 - 06

Osi6 @524 @660

-508 - Y439 143 -326 -10Y4

P R I L S H O W E R S
24 749 379 71 208 85 696 338 HIS 517 379 85

B R I N 6 M A Y F L 0 W E R S
250379 71 69 74 25 24 48 28 208 338 45 57 379 85




